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This test is in two parts. On part one, you may not use a calculator; on part two, a '(Frc;n-graphing) calculator is
necessary. When you complete part one, you turn it in and get part two. Once you have turned in part one, you may
not go back to it. You will show all work on the test paper, no scratch paper is allowed.

PART ONE - NO CALCULATORS ALLOWED

(1) Find each of the following: (Note: here, answers to inverse trig. problems should be in radians, not degrees)
(2 points each)

G -z

(o) sin(120° )= R ____ () cos(150°)= =
NI ~T
(9) cos‘l(O) < (h) tan™ (—1)= a:

/
(k) cos™(5)= u”depmed{ 0 tan(135)-_|

(2) HOW MANY solutions does each of the following equations with the given restrictions on 6 have? (Do
not need to solve, just tell how many solutions there would be.)
(1 point each)

(@) sin6=0.3; —%SGS% ’ (©). 02005‘(%) |

(b) tan9=%“"f_~"'=’“‘3 (d) tan0=§;0s9<2n Z,

¥



(3) Solve the following equations exactly. (all solutions) ( 3 points each)

(a) tan20;3:0 / (b) sin(4x‘):1 Connot divide ou+ ‘f‘h\\s 4.
tone = 3 —
4y = - 2l
f +a¢f\:e=1'% - %E
™ X= T4k |
K wieger K intesy2 @

(4) Solve the following equations exactly for 0 <@ <2r. ( 3 points each)

" penwd 1s small, 90 2l

(8) 6sin@+3=0 (b) sin(3x)=£ 38 tmes ”
N 6SNd= 3 tanGxy =) |
° Sie=-1/, 3K=gt Tk I
=T, Tte_T
0< L X=5t 3 zrilie
J 6 %) EO, 2r )

X= I S % 3w (or 247

Sy g
(5) Solve the following equations exactly for 0 <9< 2r. ( 3 points each)

(@) sin@= % (b) tan@=-3 (c) cos@=3

o . D

ref=sin ref="un’ (3) Nno solutron

0 =3I {-U 3= W’é] =l =Co56=!
2T — an"é)
€ I_[ yw <IA %,0(43 "_D us
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NAME:

MATH 8 ., Test3
PART TWO - CALCULATORS ALLOWED (no graphing calc.)
Show your work on this paper. EXACT answers are expected unless otherwise specified

(1) Given the right triangle shown, solve for o and 6, exactly and give approximation in degrees (1 decimal point)
(6 points)

"'W=3 06=‘{ —l-3 :jlgé
e o-Tany - 18.4°

U

(2 points)

Stos3’

). Given the right triangle shown, solve for X exactly:

X
NS z

). Find the value of the trig functions for the angle shown having the point (-3,1) on the terminal side (exact)

F=W‘ )2- < - V|B (9 points)

sin(0) = s esc@)= VID |
-3,1
— — |b rd
cos0)= _ 2/ Vro sec(6) = /3 \\ an
- \ F‘)—y -2 - 0
> Ceref :

tan(0) = cot(0) =
J 2]

(4). Find the value of the listed trig. function given the following right triangle. (notice different angles are being
(12 points)

referenced) o 2
- sin(0) = \/Zﬁ cos(@r) = vzci
2 cos(6)= V% tan(ar) = %
C= o =C 22 cot(6) = Si cse(ar) = V';\"

c="V=3



(5) Given that tan(0) = —% and @ is in Quadrant IV, find the values of the following exactly (show work)

(6 points)
) - r
3ways Youen dotnis e = N2 7
6
q.
tong <= Leopp
| 6 1 ady
— < J
sn@=_ N\7 cos@®=__ 1] cot(@)= Lf
(6) Evaluate exactly: tan(cos_l (g]} (You must show work, calculator may not be used). (3 points )
> - - a
cod =
© 6=cos % = ol S
e

() tan0= 1B —

(7) A doctor is using a treadmill to assess the strength of a patient’s heart. He sets the 48 inch
long treadmill at an incline of 10° , how high is the end of the treadmill raised? (4points)

h _swinl’
19

N=48sIn |b‘
~N 8 3 wdhe>




(8) Manny bought a new shop and wants to order a sign to replace the existing one. From a point
P, he finds the angle of elevation of the roof, from ground level, to be 31° and the angle

elevation of the top of the sign to be 42°. If the Point P is 24 feet from the building, how tall
is the sign. (solve exactly, then estimated to three decimal places) (9 points)

\es

s VO °
| I
" WP h|
' I
P i
|
|

N= AYten4d — Y o3l

N= AY({Han42™= Yand(®) % 718 menss




